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1. Ifr is the coefficient of correlation betweon x |8, 1f H g tho Harmonic Menn of thrae numbers
and y, then what is the correlation coefficient ")(34- ¢, and 10C, , then what is the value
between (3x + 4) and (- 3y + 3) ? of % )
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4. In a class, there are n students including the

students P and Q. What is the probability that
P and Q sit together if seats are assigned
randomly ?

9. A fair coin is tossed 6 times. What is the @) 4

. n
probability of getting a result in the 6t toss ) 2
n
which is different from those obtained in the © 4
n
1
first five tosses ? (d) o
7
(a) — | )
0 5. In a Binomial distribution B(n, p), n = 6 an
W - 9P(X = 4) = P(X = 2). What is p equal to ?
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What is the probability that no two girla sit

together ?

2
( £
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b 2
5
1

(C) E
1
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What is the probability that P and Q take the

two end positions ?

(a) Ilg

(b) 115
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What is the probability that Q and U sit
together ?
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m of dev‘jati .
e s and q respectively. If

s 4 20 are P

10 an .
(p’mz:melﬂgnfmaT§HWVMueﬁm?
b . t A\ (S

(a) 10

b 20

@ 50

@ 100

f X = 20 is the mean of 10 observations
xpp Xgo o X10 then what is the value of

10
5 ()
5

i:.'

(2) O 16.
(b 12

(¢ 112

d) 1012

If the mean and the sum of squares of
10 observations are 40 and 16160 respectively,

then what is the standard deviation ?

(a) 16
(b) 6
() 5
d 4

Three dice are thrown. What is the probability:
of getting a sum which is 2 perfect square ?
17

108

5
108
19
108
23
108

(a)

(b)

(e)

(d)

ons of n numbers from |, .

17.

(7-C)

A, B, C and D are mutually exclusive and
exhaustive events.

If 2P(A) = 3P(B) = 4P(C) = 5P()),

then what is 77P(A) equal to ?

(a) 12
(b) 15
() 20
d 30

Two distinct natural numbers from 1 to 9 are
picked at random. What is the probability that

their product has 1 in its unit place ?

il
81
4.
72
1
18
=
36

(a)
(b)/ ’
(c)

(d)

Two dice are thrown. What is the probability

that difference of numbers on themis 2o0r3?

(a) 5’% ;1;‘:; N
Rt

®» 1

(c) i%

(d) %
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The probabilit_\' that & person recovers from a

3. What is the probability that

disease is 0

exactly 2 persons out of 5 will recover from the

disease 7

2.

What {n the | {
‘\ ! ) ongth of prafection of the vector
\ A
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20.

Suppose that there is a chance for a newly

llapse, whether the
nce that the

constructed building to co

design is faulty or not. The cha

design is faulty is 10%. The chance that the

building collapses is 95% if the design 18

faulty, otherwise it is 45%. If it is seen that

the building has collaps
probability that it is due to faulty design ?

ed, then what is the

23.

b 4
(¢ b
d) 6

>
If 0 is the angle between vectors a and b

- =
such that n). b > 0, then which one of the

following is corrvoct ?
() 0s0Osm

b) ; <sOsn

(a) 010
(b) 019
() 045
d) 095
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A A
’ The vectors 601 +3j, 407 m.\__, and | 27.
? um. _ mmm., are collinear if':
WY
Amv U =20 b
A_uv D =40 (, .
g
© B=-" 40 ,,“..
av U =26
Consider the following in re pect of the vectors
26 — 28.
NuﬁrcgmchPCH
" 1. The number  of  unit vectors
-
bm%ma&nﬁ_m:. to both 2 and b isonly
one.
9. The angle between the vectors is m
Which of the statements given above is/are
correct ? 29.
@9 1 only
() 2only
ve Both 1 and 2
@ Neither 1 nor 2
%. If L is the line with direction ratios
<3,-2, 6> and passing through (1,— 1, 1,
then what are the coordinates of the points on
L whose distance from (1,-1, 1is 2 units ? 30,
11 13 19 13 mu
(a) ﬁ|-q|,|ql,|q\w and ﬁq, 707
19 11 13 1 3 mu
(b — - —=y 5 7
) ﬁq, q.qwmumﬁ 77T
13 11 19 1.8 mu
Anv ﬁﬂ..ﬂw‘wﬂw N.HH&. h Q» ~N~‘N
13 11 19 1 3 _5
@ (B4 \u and m\H :
) ﬁq.q.q 77 7
1-C

w
hich one of the planeas is parallel to the line

x-2 _y-3 _z-4,

(a) 2x+2y+2-1=0

(b) 2x-y-22+6=0

(¢) 2x+2y-22+1=0

(d x-2y+2z-1=0

What is the angle between the lines

mxumwulam:zaxu|<n|§.~

(a) 0°

(b) 80°

(¢) 60°

@ 90°

What is the equation of the

sphere concentric ~ with the sphere
5 = 0 and which

Nm+%m+nwlmx|m%|mul
hrough the origin ?

vwmmmmn

(a) xm+vh+umlmxlmnuo

(b $2+y2 +22-2x-6y=0

(© xm+vk+um|m.<lmuuo

(d) xn+%m+umlmx|m%|muno

A point P lies on the line joining AQ, 2, 3) and
£ P is 7, what is the

). If z-coordinate O

B, 10,1
oordinates ?

gum of other two ¢

(@) -—16
(b -13
e -1
d -9
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what 18 the equation of directrix of par
ua# V.vu o ,-hﬂ..’- ll.-n#«—‘a b < 0 :——-m —-.\, v b g l——vv-m.“ nholn 0s.
@) x+1= 0
» X Q=0
© x - 1 =0
@ x+ 2= 0
83. The points (= a. — b), (0, 0. (&, b) and (n?, ab)
m:v “ !‘,~ '
@ lying on the same circle
@®») vertices of & square
@ vertices of a parallelogram that is not &
square
) collinear
g3, Given that 16p% + 49q% - 4r2 — 66pa = O
Wwhich oné of the following js a point on a pair
of straight lines (px + qy + r) (px + Ay — r)=07
7
2, =
(a) h 2 u
36.
» (2 -3)
2
(© “4,—7
@ @7 (D
20 ﬁSU
84, If3x +Y — 5 = 018 the mnﬂwﬂob of & nUow.ﬂ_“;.
e
the circle xZ + yZ - 25 = %. then what M:...Vm
coordinates of the Hbm.w\muo. t of the chor’
(a) ﬁnu\Wl- .Wuu
4’ 4
(b) mm wu
2’ 2
(e) hmm ,— .u\.w
4 4
3
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the statomonts yiven arere A0

How many of

corroct 7

Su) Only one
(p) On ly two
(¢) Allthree
) None

ments in respect

Consider the following ptate
2 2

om.ruﬁmn._u&m Mm”\m\d. = MNWm\m ~1:

1. The twO foci are ..:&&h&:&a:« of 9.

2. The gnm:r\..&ev\ js sec O-

3. The distance® petween the twe foci i®
2 units

HowW many of the .:E«S:a:«m given above Ar°

aoﬁdan ?

) Only one

(b Only tW°

© All thre€

@ Noné
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T ax? + 4y? - dox - day + o2 = 0 & Tl A

frfiies sl w far A

L R g A1 o e s k|

2. W W Wl

3. aﬂdﬂﬁmﬂgfin:ﬂ@mm_
I woRI R R w € 0

(@) Had Th

b) A Q

© ot dm

@ 3 of

k% 5 Wl % forg Y@
k-8)x-(6-K)y+k?-Tk+6=0,

Y@l x+y=1% TARE ?

-1;1

-1,2

(¢ 1,-2

Amv Mwlw
ﬁx:l_méc%o@sﬂ&%
ot Y@ R W FEA & | PR : RQ RS
TR ?

(@ 1:1

(b)) 1:2

¢ 2:1

d 1:3
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27
(a)
(b)
(c)
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(b)

39.

8
46
86

omt ot AR 7 (02) T F Ry Arafug
frem #for: e L4

SR ay, ag, ag... T TRRAPH § fy

ay+ ag+ gg + 815+ Bgo + 825+ 830 + 854 = 300

41, a; + 85— 810 ~ 815 ~ 820 ~ g5 + ag 4
30 mr

fope T R ?

»(a) "0
(b 26
() 1256
(d 250
34

42, M a e e R ?
n=1
(a) 900
(b) 1025

(¢) 1200
(d) 1275

it o AT @t (02) TN & forg Ao W
faam #ifore:
2n

A p= Sm‘mu cos ﬁﬂu 3t
q=cos ﬁﬂu cos ﬁmmmu
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following in respect of the circle

ider the 2_0:

Let a,, az, A3

Consider the following for the next firo (02,

items that follow :
.

... be in AP such that

Conf B +
g7 \t\‘:@\u.\»m& 4ay + 4. :
\\-HnTQ ﬁ:..n*@ g—hn_‘umm —UOA\JM WﬂW;VMWGﬁ. f - .

. The diameter of the circle is 2a.

7
ay + D.w-.?mwuc.fm_w

+ QND “ NNvu 4 a5, + N.ua = 300

2.~ The centre of the circle lies on the line

3.
x+y=2&
many of the statements given above are
How
correct 7
(@) Onlyone
() Only &0
© All three
(d) None
g, For what values of k is the line
. MV%+WN|.NW+QHOUNHN=&

Awlmyxlalw
tothelinex +y = 17?

@ -11

(c) 1, -2

@ 2,-2 ,, .
) y — 2

- >

The line x + y = 4 cuts the line joining P(-1,1)
and Q(5, 7) at R. What is PR : RQ equal to ?

=

Consider the following for the next fwwo 02)

(a 1:1
(h) 1:2 items that follow :
2n 4= (8=
© 2:1 H\mnvunomﬁwmwnomﬁwlw mbmaun,ou /-w|.i3u 5
d 1:3 oy M N = =
) 43. What is the valueofp+q?
- What is the sum of the intercepts of the line L
whose perpendicular distance from origin is @ -3
4 units and the angle which the normal makes
With positive direction of x-axis is 15° 7 (b) - \M.
(a) g
b) 4.6 (¢c) O
( 1
9 Bu6 (d) —
2
@ 16
(15-C)
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al W 24 3 G Es L 122 =3 v
41.” Whatis z
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Nu + N‘ — NS — 835 — gy — 3gz * Ag, + 2o
mncmu 8 ? e T
) 0
(b) 25
(c) 125
d) 250
34
42. Whatis M Numnﬂmug.w .
n=1 wo3n A.%PV + ! «x\,\\“u
(a) 900 Pl
o~ w -
(b) 1025 = jidn
= 3 ==
(© 1200 Sl
@ 1275 7
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4
(a) -1
@ L :
16 (b)
e 1
. d 3
It AT 7 (0z) A ¥ g PR @
Eﬂﬂ«%ﬂ 48. Smmx+oomm%ﬂ_ﬂ_ﬂ.mﬁww
343
%ﬂ _ 1 tandx (@) 2=
e v|W|nmux£ﬂ Jm\l
3J6
aanmﬁmamuquxAn‘xum. (b) =3
(c) me\W
45, pq e TR 2 ? o
@ 1 st o et 7 (02) W ¥ g Refrfe w
M) m. \wﬂﬂ%ﬁ
8 T Y ABC % HI0 A, B 3 C #9: 3:5:4 %
s T E |

49, a+b+ 2 c H WM fohgeh T R ?

@ -8
(a) 3a
(b) 2b
6. < P 3 f L @ ama W
P (d) 2¢
(a) forelt o & forg gt 80. a?:b?: 2 fg o A E 2
(b) ﬁﬂﬁ;ﬂwﬂ@ﬂ (@ 2:2+ 3.3
I o 5 b) 2:2-/3.9
. (c) N“m+z\wrum
@ % v wwE e @ 2:2-/3.
_u_n._.x-m._sHI :
(16-C)
/.
X, ©

N



|_

44 Wwhat 18 the value ofpa?
| 1
w1
.
@& 2
1
«© M
1
D —=
@ 16

Qeam..mﬁ. the ?:SE.:%. for th

jtems that follow :
1 tan3x -

- —

LetP = 3 tanx

\

3 _~— K7
\
3L =

T

2

and

DU
-

nuu|u§mMMOAxA=.xw

Voo & L%
45. Whatispq equal to ?
(a)
(b)

(c)
W -3

46, For how many values of

wlom N

x does 1
P

zero ?

(a) Novalue

@»\ Only one value

(¢) Onlytwo values

(d) Only three values

FTK-S-MTH

e next two (02)

Al
IN-\w
LI

piad!

Ny

become

< v
Tt A& L * -
) thy .f ~}\_-1 \_\v..\

Consider
the ?zoz.?a for th
€ next fwo

items that folly,, .
Let si ' ¢ .,mwm:..ﬁ_. ‘/ (03)
sin X+ siny . APRRY LI
% J ll ‘\@Aeo.n% . aohﬂ,.sv. A«,M.
) AICUEINC SX)L X +y = !
o?.fw. 1o - Th- 278
" N ,h - w o) A a? X
. " Qw |+ 0N = /x.m:,_m,
47.  What is a value of |
n 3x + sin 3y ?
@ -1 o - (o Cp ©
i & 0 ,,ut..,,r 4o~ o )
© 1 SIS AP
RIS m.dh
@ 3 5001
. e
48. What is a value of cos® x +cos®y? * 2&9 o
(a) % on 4 SRR
8
w X
8
36
e —
4
d- 1

Consider the following for the next two (02)
items that follow:

(17-

q..g angles A, B and C of a triangle ABC are in the
ratio 3:5: 4. by tU2~ \$0
_m_ m\rr "3
49. What is the value Fa+b+ V2c equal to?
P \b *o & =
(a) 3a o ﬁ,_r B
(b) 2b
(c) 3b o \v
\ 5 - 1J
@ 2% 5 L
\u,.r
50. Whatis the ratio ofa’: b2 :c??
@ 2:2+43:3
® 2:2- J3:2
© 2:2+ J3:2
@ 2:2-43:3
C)
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(x) foh AT 2 2

ST T At 3 (02) o oy Pk | lim €

x0
Eﬂﬁ%ﬂ# 1
(a) - 3
2n . 4 ¢
= | sin"x+cos”x 2
RS VR 0 -2
-2n
n Anv 0
51, (sin® x + cos?x) dx ToREh SR & ? @ 1
O i o \
@ o 55. A fx) = [ln|x|| F& 0 < x < 1, 1
B forea TUE R 2
] )
® @ -2
© w% b -1
© 0
d 3n
d 2
52. 1 foreeh suse R 2 4
56. ﬂmw\guoomﬁai%ﬁwnAmxlwwﬁw
(a 0 X
3 forereh e 2 2
b =
4 2x -3
(@) cos|in
(c) i =
2
(d) 8n . (b) |Mmm§ Nzhmxxlwu
X
T 3T AT 7 (02) Yot % for Reaforf uy © 3 e smmx-wu
g%@nﬁ. x2 X
T A g = (DD x< @ - os[n22)
x-1, 1<x<2 X X
53. amsﬂ@;lﬁﬁ%#w.%fs 8
I HH FTR 2 57. |sinx|dx forereh s 2 2
(a) -.w. 0
(a) 2
® -1 b 4
e o0 © 8
@ 1
@ 16
DFTK-S-MTH
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of 1o 02)
qer ™ pollowink for the "
..-3-: h.:s }.2..:.
!
]
n__K;__.:n X dx ey Y
ot ! — 1+ 8 ) 3
. what 1# _. (gin'x * cos? %) dX equal to?
-c iy
o
gnl’ .
,21 8 ?
gn &
) i >
(b s
) 3 A o O v
(«© 7
@ 3" e gwe
9. What 1S 1 equal t0 ?
(a 0
o =
4
(c) w
2
d 3
Consider the following for the next two (02)
| items that follow :
ax (X + 1)+b x<1
Let QNV = ’ <
x-1 1<x<2 A
Mﬁ
§3. If the function f(x) 18 &Rmnmna =1,
then what is the value of (@ + \m&
(a) - 1 ) -
3
®m -1
(¢ O
@ 1
(19-

54.

56.

57

c)

W
That ie lim (o)
semal s

¢ 0

‘a)
J '
(b) 2
3
¢ 0
d 1
If fix) = |In]x|| where 0 < x < L. then #h
£/(0-5) equal to ? ]
AWV |M »y ../ )
b -1 o
@ 0
d 2
If f(x) = €08 (n x) and ¥ = £l 2x -3 hen
. . X
. dy TN
what is 3 equal o? A V(T
"
2x -3
@ o8 ?ﬁ\ﬂ\: -
3 2x -3 ¥
® -3 in| ﬁ\u\\\ q
) 2 sin|in| —3 g
3 9x -3
(© x\wncm Naﬁ\q\:
3 2x -3 )
@ - x\NnomT:h\x\:
8n
What 15 | sin x | dx equal to ?
0 n
(a) 2
(b) 4
(©) 8
d) 16
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(n)
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(h)

- N

(¢)

(d)

g d? ’ dmk
Aage Wi 2 Aﬁ* " P

&) a2 st e gy, o 4 9
m) 3,4
h) 1,4
e) 2,2

) 32

v  mdn (x - ) gt 5 ) yeeeryf o

wh) wy 4
a® awu-c
:: \—k& 4 \ll v

x u
:; ;w ;RT_Q .0
x” dx

. V]
L .Tﬁ =0
(¢ y ._%n 4 ‘"

d?y dy \*
:: ‘*;xw { H&x; s ()

DF T My

4

4
v+a=x-o

ii%«a&» i&iﬂgs
ym v

PRI o NS,
BB x e -1, 1) i fom, A Mx) = x| x| UH x forerv o by
MHINN.KVQ.%VO&—%

dx

X

1. e e A o w8 7
01,

1
(n) %Ilm
1
(b) y=3
1
(c) xnlw.
1
?C xlm
. famd
02, T W % Tifivea (Sew Yorew) Y o
B0
(a) 1
1
(b) 7
(c) M
() m .
iae&i&@%&@?s
Rrery whiforg,

T\oaov

(h)

(¢)
(d)

[n(ab)
1

In(nh)
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e

what js the area between the curve
58
:EnM_x_ and x-axis for X € 1,117
, =
(a 3 Al
: K[
b 3 f
A
(© 1 oo
4 oS
1 Y
(d 3 fvw \/ .
\ GW
e
59. What are the order and the degree
nmmvmnséq of the differential equation
2 4
3
X2 m\M + ﬁmwmw +sinx=07
ax® dx
(a) 3,4
us\ 1,4
© 2,2
@ 3,2
60. What 18 the differential equation of all
parabolas of the type y? =4a (x-b?
Qm% Q%uw -0 Q.N\\M\r\ - e -
(a) &unm dx oy ﬁwm..i
2 2 =
a7y Amﬁ =0
(b) 2 +% | 4y
2
&u =0
) m T
2
a%y ﬁ%u =0
(d) %mx + |3
DFTK-S-MTH

Con
sider the following for th
e

items that folloy ; next two (02)

A parabola
Passes through (1, 2) and sat; fi
isfies the

Consider the following for the next two (02)

items that follow :
a¥ L+ ¥

a_*T7 —

and gx) =
Let fx) = 2

f0-1 equalte?

Wt
g(x)

mw 5 gww is

In (ab)

e
4 TL/

) a® &

kw\ t_ (ab)

n (ab)

lim
%\vu

(a)

(e)

@ 2 In (ab)

differential equation Y. dy _ 2y
et " —,Xx>0,y>0.
61. What is the di i
he directrix of the parabola ?
(a) y=- W
8
b y==
=%
() x=- =
8
d x= E
8
62. What is the length of latus rectum of the
umamw&mw
s
1
Hu —_
(b) 2
1
(c) 1
1
m —
(d) 3



1 68.
hm flx¥* mmﬁwﬂmdm.ﬁwg o
R (a) -2
a /md
b ab (b -1
c) 2ab Aav 0
(d) @
2 d 2
3Tt A aret gt (02) ¥ & forw Amfrfea w
E.ﬂ.«%@d.. ,
g S @t &t (02) T % oy ey,
7AW fx) = 2-x + [24x.
faram #ife:
65. 3 T 1 Yid #9112 x-3
+a; x<3 _
(@) (-2,2) [x-3]
b) [-2,2] A ST fix) = { a—b; x=3 3R
(© R-(-2,2) =3 b o
d R-[-2,2 x-3] > *7
66. 38 %oH 1 Ifan T 97 8 9 f(x) §a4 &1 SIRT x = 3T |
@ 3 6
& 69. a® AF W 9
(c) a\m
d 4 @ -1
mswﬁawmawmwasvuﬁx;W%ywm#aW§yqq~ b) 1
v © C
c 2 .
nﬂ%ﬁmiu_i%m«ﬁu_iluﬂﬂ.:mﬁd it
ﬂiﬂnﬂuw_ d 3 Le
T AT hx) - mwo&. gr
g(f(x)) Le
67. Am hix) e a2 o 0. bHEAH R
67,
(a) _og (@ -1
® -1 b 1
(e o
@ () o
DFTK-S-MTH @ 3
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W) gqund 1o " !
what 1# M.:" fow) o )
o T_._ Yoy
e vk | w
v ‘, \ {,
w0 W YRR
W 2nb
Jab
b b
sider the followink for the next two (02)
Con .
e that follow:
pot 02 ya-3 ¢ ,\m '
\ N\,
ob What is ﬁ.,_,:. domnin of tho function ?
W) (- 2,2)
m =2 2]
© R-( 2,2)
A&V ~N - _| N- N_
¢6. What is the greatest value of the function ?
(a) J3
b V6
W B
d 4

Consider the following for the next two (02)

items that follow :

0. What js ._.,.~... hx) arpial 1
(n) 7
(h) l
(c) 0
2

Conslder the following for the next two (02)

Let fix) = |x| and g(x) = [x) - 1, where [.] is the
greatest integer function.
' Lethtx) = JBX) - =
W g(f(x) : W w -
67. Whatis lim h(x) equalto?
x—0+
_ (8) -2
(b) -1
0 0
@ 1
(23-

items that follow :
x-3 7 [ w)
e . n o ?
_xlm_+n. x<3
Letfix)={ a~=b; x =3 and
X=3 +b; x>3 N\ oo 8
| %~ Tx-3]" =\ ’
f(x) be continuous m;ny oD ‘
:ﬁ\\\\,
-9
69. What is the value ofa? 2% .
v *
52 -1
~ 2
-2
(b 1 D)
\ rT
() 2 g
d 3
N
70. What i8 the value of b?
o !
(b 1
( 2
d 3
C)



AT 3T 7T 3t (02) WA & oy AETeIET | gy, a@gﬁﬁ#wézo.ywﬁ?
wgd%d.. @ |H. )
4
TH ST f(x)=x2 - 1 R gofix) =x - Vx +1.
2
(b) 3
1. Frfefen § 4 Fha @ g F R awfa
T 3 0 © 2
(@ Vx+l-4x+1 @ 4
b Jx+l-Yx+1 +1 ﬁii%%&»i&.?g
©  Jx+1 +%x+1 mﬂﬂm@mﬁw :
@ x+1-Vx+1+1 x+1 9 3
WA= 2 x44 ¢ T T
2. g(15) foFES T 0 N 3 6 x419
_
(@ 1
® 2 T5. T8 B BT & -
() 3,
. (a) #%vo“_ﬂ
d) 4 3
. (b) T%TH
iiiﬁ@i»??@@ms
’ (c) T@gﬂ
3
T T TF B g, m- ) W v & s
wnxrmﬁ.&uu:w. (d) T,@Qﬂ
X 3
78, £0-5) e T 2 9 7. RERLLR E S ——
(b) W (b) X=—1m
Anv 1 on xuodﬂ
@ 2 @ xu%ﬂ
DFTK-S-MTH
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, 1lowing for the next tw
o Jer za\“ . o (02)|74. Iffis diffor
s that follo™” to ? entiable, then what is (0:6
o v“xn\u and goflx) =X~ ,\|J+~ s
1t fix (a) 1
4
_ which one ©f the following is a possible o 2
7 m%_.mmm_o: for gX) 7 3
@ <+1- X+1- e 2
7 Jx+ _4x+1+1 @ 4
[ - 2 ¥\
% 1 + VX 1 Consi
A.n . nsider the following for the next two (02)
@ ** 1- Jx+1+1 items that follow :
A function is defined b
72. What is mﬁmv equal to ? ed by
x+1 2 3
@ 1 flx)=| 2 x+4 6
9 3 6 x+9
(b) \ n (K
@ 3 75. The function is decreasing
@ 4 (a) Tm&&
3
28
Consider the following for the next two 02) (b) T» \.,L
items that follow ¢
© T \ﬁ
Let a function f be defined o2 R — {0} and 3
1 S
wpx:mﬁ\w —x+3. w A
0+f{ 5 X+ .. RN @ T, mm
}Ww W b : 3N = 4073 Yo -
AR A o8 (2
? .
. Whats o 5) oanm_ to? \G .v " y\r WJ 76. The function attains local minimu® value 8¢
1 _o- 28
@ 3 2" @ *=773
57
(b) .w \»\«\ b *x=
A © ** 0
o 1 28
a @ *° 3
) 2
| N
| 25-C)




o7 33 T 2 (09) v fog e

frem #ifery.
gﬁw?%iui.
© ¥ A g

3
2
3

Kki

(a)
(b)
() 4
d 6

xy 1 fehay a1 8 2

78.

=~ —_
g &

~
o
e

@I Ol bW ]

(d)

HTT 77 ATt 3 (02) WA F Frg PR wr
faem #ifery:

F 1) =7+ sin’ x Z0 o 8 |

(a [0,1]

()  [n,n+1]

(c) T«IH.:+:

(d) _ﬁlHL_I:

T oM 1 3T T
(@) 2n
b =

m

2

(c)

(26 -

B

R A 7 (02) S&w@dgg
g%ﬁ
a&ﬁs:-affa-xmu%ﬂg;_

g1, g & it gl F =G 2,

(a) 0
b 2
(c) 4

d 8
82, wHieo % @t gl T ANTRA T 2 9

(a) 24

(b) 12
() 10

@ 6

3T 3T are quap.w» vt & w@d .
Faeme ifry T

ﬁ.&ﬁs.fsm+w%+wn+uuo 3R
HHIEROLIL ; 21985 , ;100 , l=0w _

83,

@ 1,0, @2
® _1 g, 2
(c) 1L-0, g2
@ 1y
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for the next two (02)

?:::;:t
Connl
der the following for the next two (02)

:.:—. N
a {temn that follow

2w f .
e At ?‘ S

nvalue of y ?

Cor
wldar the aquation (1 - x/* +(h - x/*
wft =Wl

f\ maximut
f1, W
hat is the number of renl roots of the

aquation ?

w !
4 (n) 0
«
@ 6 (hy 2
what is the maximum value of Xy ? (¢) 4
78
9
@ 3 (d)y 8
b) 3
( 2 82, What is the sum of all the roots of the
o W oasmaon‘w
. 2 (a) 24
@ 73
() 12
consider the following for the next two (02) © 10
¢
items that follow :
A function 18 defined by fix) ="+ sin” x. @ 6
g =
next three (03)

the ?woaoj ? Consider the following for the
items that follow :

79. Whatis the range of

@ 0,1
Consider equation-l : B2t r 2t 1 =0 and

b [mn+ 1]
equation-IL: 71980 4 A04+1=0

(© Elra+:

@ m-1,n-1] .
83. What are the roots of ap:w:o?_ ?
80. What is the period of the function ? ,
(@ L® )
(@ 2n
2
b) = ® -Lo?
2
Anv m Anv Hu - e. W
N 2
d - 1, -0~ )

(d) The function is non-periodic
Amu\ov

Oﬂ.x.m-_,\_._.I
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Rafifes ¥ ¥ S w wiisoa oo
(R

Y 1
®» -
liw

()

(A

g5, WLl R THEULLE e
IETCIRIN
w 0
o 1

()

d 3

F 3 a3 (02) vl & forg Reieiea @
gm@@.@.

s feum qfiew, (a+ b)x* -@+b+o)x+k=0
g o R, @l a, b, ¢ IS |

86. umr"w;ie.%ﬁ&ﬂﬁwﬂﬁmm“
(a) m._.m_mﬂw?mnﬂ
(b) IT® 3 yER
o TR 2 o aR s o
W |fE, WA 1w
DFTK-S-MTH

(28-

87.
b
bvﬂ@ﬂﬂ
(a) Yy \\\s»v
b
a+e ot - ——
® a+b a+b
C
(c) Hmﬂau.lv
C
d lu%lwﬂ\m
i%ﬂ%aﬁ&&i%@d%ﬂ
Eﬂﬁ%ﬂ.
qH ST
L+t = 1+Tyx+ Tos +Tye® +.+ Tox™

g88. Ty +2Tx + 8T5 + .- +0T, e 2 ?

@ 0
® 1
(© 20
@ n2!
89. 1-T, +2Ty — 8Ty + .. + 10T, =3
TR R ?
@ o
b -20t
(¢ n2o!
@ 1
90. Ty +Ty+Ty+..+T, o TR 22
(@ 2°
(b) 2°-1
(¢) 201
d 2041

C)



wie nmne of the tollowt i
. \\! he ot owing {r n rool ol N7, I = e, then the roots of
ncha :mz:-—— ..o W the sepuntion ars
QW P
(n) h
.z 1 2+ b nnel b
&
:: nite b
@® o Wi h and =
- a.h
« ¢ (¢) 1and g 7
n+n
1.7 Q
(@ ~1and : 5
nt
g what 1§ the number of common roots of
oqustio oI and equation-II ? Consider the following for the next three (03)
ltems that follow ¢
@ 0 Lot (L+x" =1+ Ty + T,x% + Tyx? 4.0 1,4
® g8. Whatis T, +2Tg * 3Ty + . * nT, equal 0 ?
ﬁ; 2 Amv 0
@ 3 ® 1
@ 2"
; ¢ two (02) @ n2*’
Consider the following for the nex
_1nT
g?ﬁn\ess.. 89. éwm:mu\ﬁ+man\mau+z+_ 10T,
A quadratic equation given Y equal t0
ar
:TENM|Am+v+nvw+w“c,€wmnmm.w.n e @ 0
i
-1
ﬂ@P—. . ./m _ " wg—.md Acv _ Nn—
G (=
NI © 02 -
uation
86. Ifk= W, (c # 0), then the roots of the €4 @ 1
. T, .QDCF_ to ?
o 90. sepzmeieiemf; "
(a) Real and equal va. o0
(b) Real and anequal (b) gn -1
go!
(c) Realiffa>C¢ ()
d @
) Complex but not real
L 99-C)
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TR M A A 16 37 § i (0, 2)

1.3, 8 nﬂumuhwwuﬂd..mmn%hq\ﬂuh

THes,
1 AT TR A |

2. ArAT Fa73 (3,9)3 |

‘2 Fmm g
b FEm g
‘© 14nm 27T

EE L TP

TR A=11,2,3, 20, A% AW EET R
ﬁuﬂngwwﬂmn??ﬁu%n:“

T xyeaA P FHE A OF
ﬁuﬁﬂubﬁ%wmq

L RFIUA (14,710, 13,16} |

2 RFWME(,59 13, 17) 2 |
wﬂﬁuxﬂﬁﬁ#maﬂw_
ﬁ?aﬂﬁﬁsﬁﬁuﬂ%ﬁ
(@) wln_ﬂH

b Fae 9

‘& 14nmy

(d) 247 5

DFTK-S-MTH

(30-c)

e Fol § § FHAGVEAE 98 2 /3 9

Am.v Wﬂﬂ 1
(b) Had 2
© 13K 23H

@ Td 1,982

wﬂ@ﬁmﬁﬂﬂm_ﬂn%ﬁ
1 A=@AUB)y@A-B)
2. AUB-A)=(AUB)

3 B=(AUB)-(A_p)
ﬁ?ﬂamwﬂz@ﬁ%?

() %3 130 o
b) %t 2 3 5
(c) wﬂﬂyﬂﬁw
@ 1,234
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92.

U_u,_.x,m,—s.—.I

. Cartesian product

ch are (0,2)a
g/are correct 7

nd (1, 3). Which of the

Th
waaﬁ_‘m 5‘—.:
g .n::mam:ﬁ i

It is possible t0 determine set A
2 AxA contains the element (3, 2)-
ing the code given

gelect the correct answer us
wm_oﬂ. :

_N' H OH—H%

p 2only

(¢ Both 1and 2

(d) Neither 1 noT 2
.., 20} Define 2 relation R

»M - M = 1}, where

m§u>8>_&~wn :N.%f
x,y € A Which of the mo? m§SBmuG

Let A = {1, 2,3, -

/

ig/are correct ?

. The domain of Ris (1,47, 10: 13, 16)-

9 The range of Ris (1,5, 9 13, 17).

/

3, Therangeof Ris equal to codomain of R.

A » A has 16 elements |93.

94.

Select the correct answer using the code given
below :
@ 1o nly
b) 2 only
© landz
@ o nd'g
(31-C)

.\w.\ B-(AUB-A-B

(Cons
ider the following stateme
ta

1. The relation f defined by
x?, 0-2-2

fix) =~
4x. 272~ %

= 3 funetion

2. The relation g defined by

%2, 0zz<4
4<x%8

is 2 function

gx) ="

3z,

Which of the statements given above Iare

correct ?

(a) lonly

®) 2only

(¢ Bothl and 2

(@ Neither 1nor 2

Consider the following statements - Y —
A-B) o

>n$cw:i

&
w\,»ceL&chw,

Which of the statements given above are

correct ?

(a 1 and 2 only
(b) 2 and 3 only
© 1 and 3 only
@ 122043
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{(x) P :.AC. el r. 08, _._..;:\\ COH ﬁ.\_&l:

f(y)

T fy) v 0.3 (1) = 0.5, A

5. Uh e fiyoy).

26
(a) 17
f12) 4 13) + f14) + (6 + 16) forudh A B .
h) =
(a) _la 17
. (c) 3
(b) ._wiw 17
. @ Z
(c) % 17
64
@ 2 |
99. U tan (n cos 6) = cot (n sin 0),0<0< Whg

8 sin? T+ uﬁﬂﬁ;
96. NSPW L,\n foreeh T § 9

(a) 16
® -1 b) 2
() 1 © 1
© 3446 @ w
d 3-Js

100, ﬂ.ﬂgupu 1

: 1
m.m:u@ ﬁ“OAQmAI
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